
I.D.:	91724158

PACHET	PIESE	1

Data
publicarii

12.01.24 Coduri	CPV 34300000-0

Pretul
estimativ:

29.231,09	RON	-	29.231,09	RON 	 	

Descriere: GARNITURA	CHIULOASA	-	6	BUC;	GARNITURA	GALERIE	EVACUARE	-	6	BUC;	GARNITURA	GALERIE
ADMISIE	-	6	BUC;	GARNITURA	CAPAC	CULBUTORI	-	6	BUC;	SET	REPARATIE	COMPRESOR	-	2	BUC;
SONDA	TEMPERATURA	LICHID	RACIRE	-	1	BUC;	SAIBA	INJECTOR	-	6	BUC;	CAMERA	FRANARE	-	1
BUC;	SIMERING	BUTUC	-	2	BUC;	SET	FERODOURI	R1	-	1	BUC;	NITURI	8X18	-	1	BUC;	SIMERING
BUTUC	ROATA	-	2	BUC;	POMPA	CENTRALA	AMBREIAJ	-	1	BUC;	RULMENT	ROATA	INTERIOR	-	2	BUC;
RULMENT	ROATA	EXTERIOR	-	2	BUC;	SOLENOID	-	1	BUC;	SUPORT	PERII	-	1	BUC;	CONDUCTA	AER
FI6	-	2M;	CONDUCTA	AER	FI8	-	2M;	CONDUCTA	AER	FI10	-	2M;	CONDUCTA	AER	FI12	-	2M;	CUPLA
RAPIDA	COT	M16X1.5	/	8X1	-	1	BUC;	CAP	CUPLARE	M16X1.5	-	1	BUC;	REDUCTIE	FI8	X	M16X1.5	-
1	BUC;	REDUCTIE	FI10	X	M16X1.5	-	1	BUC;	CONTACT	SOLENOID	-	1	BUC;	SET	PERII
ELECTROMOTOR	-	1	BUC;	CABLU	TIMONERIE	-	1	BUC;	AMORTIZOR	-	2	BUC;	KIT	PREZON	-	24	BUC;
INEL	ETANSARE	-	12	BUC;	SET	FERODOURI	R1	-	1	BUC;	SET	NIT	8X20	-	1	BUC;	NIT	FERODOURI
10X20	-	1	BUC;	LACAT	FRANA	STANGA	-	1	BUC;	SIMERING	BUTUC	ROATA	-	2	BUC;	KIT	REPARATIE
AX	CAMA	-	2	BUC;SET	ARC	READUCERE	-	2	BUC;	SET	REPARATIE	SABOT	-	2	BUC;	CHIULOASA
COMPRESOR	-	2	BUC;	SENZOR	NIVEL	PERNA	AER	-	2	BUC;SET	PLACUTE	FRANA	-	5	BUC;	SABOT
FRANA	-	2	BUC;	KIT	REPARATIE	ETRIER	-	6	BUC;	KIT	SABOT	FRANA	-	2	BUC;	PREZON	ROATA
SPATE	-	12	BUC;	PREZON	ROATA	FATA	-	12	BUC;	PIULITA	ROATA	-	24	BUC;	RULMENT	-	2	BUC;
RULMENT	-	2	BUC;	BAZIN	APA	SIROCOU	-	1	BUC;	INEL	DE	SIGURANTA	-	2	BUC;	FURCA	CAMERA
FRANARE	-	1	BUC;	PERNA	AER	-	4	BUC;	SUPAPA	-	2	BUC;	PISTON	ETRIE


